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{37p# :104& 7" 16p
Fza 101~1028 &R ( {Chicago) ~ (Kissme Kate) & #j4)
pEp i & £ 37
102.6.13 | 1015 # & & Jy| =% (Chicago) #x#jy| @ ik i &3 4215 7 65,160
102.6.13 i'oii;; #Jyl =i (Chicago) #x#jyl @ WHERE 7 * &~ R 20.600
102.7.1 | 101% & & &yl =% (Chicago) #x#Jy @ &-¥ip T EHN T 7 73,500
102.7.25 | 101% & = jp = % (Chicago) &t @ R K % 1 42 85,000
102.11.07 | 101% = = jp| =% (Chicago) #cfjyl © 3’1 ie3F jesg L 0 8,798
103.6.13 | 102% = &= 5 =& (Kiss me Kate) #c# 5 @ /3R e g 9,000
103.6.16 | 1025 & & jp| = % (Kiss me Kate) #c#jp @ % ;:ﬁﬂ;’.-}%‘—-}ﬁa 29,250
103.6.19 | 102% & &z =& (Kiss me Kate) #c#jpl © b4 ~ i & K4r 8,000
103.6.19 | 1025 & &g = iw (Kiss me Kate) #cHjp| @ 4 if PRij% 8,250
103.6.25 | 102% & & jp = 7 (Kissme Kate) #c#jpl @ » L8 Efe i 9,860
103.6.25 | 1025 & & jp = 7 (Kiss me Kate) #c#Jp] @ JR¥EE & 28,095
103.7.8 | 102% & &yl = i (Kiss me Kate) #ic & jyl - # & 4 & 22,848
103.7.17 | 102% & &y = ;% (Kiss me Kate) #c# 5 @ £ /7 4p T B4 73,500
103717 102%‘;& #pl o (Kiss me Kate) il @ ~ A B BHFE ARG 2 90,000
i
103.7.17 | 1025 & & g =& (Kiss me Kate) 8t # 5 @ BNPRTT i 8,120
103.7.29 | 1025 & = jp = jw (Kiss me Kate) 8ty @ ik WA 42 % 65,160
103.8.1 | 102#% & & jp =% (Kiss me Kate) &t # 5] @ o £ b 42 % 26,000
103.9.9 | 102#% = &y = iw (Kissme Kate) &yl @ & £ 5 K & 4215 85,000
103.10.6 102§ ﬁ;ﬁfé i (Kiss me Kate) #c#jpl @ B £ ki e 472 60,000
103.12.17 | 1025 & = ) = iw (Kissme Kate) 8ty @ fp#E®iv2 S W3 & 31,500




gER 1038 # R ( (Legally Blonde) ##41)

p g % & E%F
10454 | 1034 & %y 2% (Legally Blonde) #c#jl @ # Bh it ¥ £ | 11,141
104.5.4 | 103% & = jp| =7 (Legally Blonde) &t # e TEpR 42,000
104.5.11 | 103% & = jz = ;% (Legally Blonde) #c# 5 @ i & 8,487
104.5.15 | 103% & & jp| = ;% (Legally Blonde) #c#jp @ BVPR ~ i £ % 27,464
104.6.1 1035 & = ) > ;7 (Legally Blonde) #c#jp @ VPR ~ i & % 35,092
104.6.2 | 103% & # 4 2 3% (Legally Blonde) g/l : & p p er 4l 22,050
104.6.3 | 103% # i 3 2 3% (Legally Blonde) Bt/ @ g4 IR ~ if £ % 13,110
104.6.8 | 103% & = jp| =7 (Legally Blonde) #t# 5] @ g\ PRi% % 10,010

o DBV PR S N
104.6.11 lfiffﬁ #Jyl 2 (Legally Blonde) ifijyl + BEIR ~ 5 ~ FhA | g o
103% & &y 0% <<Lega||y Blonde) &ty © B PR ~ BRJRAET
104611 | o g o gy 2 3 30,882
E 2 : N DS -
104.6.18 1035 & = | = % (Legally Blonde) &t 5 @ 237 B £ 4% 30,000
pE RO
1035 & & jpl =& (Legally Blonde) #c#jy @ 7 #75 ¢ @4f = &
104.6.18 b 4 3 B s kL 73,500
AP |02 A EA
104.6.95 103%:41;/; ;% (Legally Blonde) #x# EFfEyg 10.200
£2 AEH*
A DRk S~ E N T
104.6.95 103%‘.’:1 #Jyl =7 (Legally Blonde) #c# 5] @ BV PR ~ i Pt 22,398
Bl ®
103% & # 4 2 % (Legally Blonde) # # R ELETREE
104.7.1 50,000
PR AR 2 R (7 HE )
1035 & &= 5 & (Legally Blonde) #c# 5 : 370 % £ 3 %
. 50,000
19 s e ‘—E*;’z/%@ﬂ(%#izﬁﬁ)
: A D -1 fp #
104.7.14 103§ £ &y o F (Legally Blonde) #t# 5 @ % £ B3 42 20,000
(#450)
104.7.20 | 103% & =z = ;& (Legally Blonde) #c# 5] @ ik ihAEsrie 420 50,400




